Item 1308 Ekeby 100 Plastkorg/Plastic tray

— |\
e ——
igieee '

Beteckning | Antal Beteckning Antal
No. . No. .
ITtem Quantity Ttem Quantity
1 tray 1 5 wheel 1
2 front frame 1 6 M8X40 2
3 handle bar 1 7 M8X25 2
4 front brace 1 8 M8X20 3

1) Insert the (2)front frame into (3)handle bar, use (6)M8X40 to fix them.
2)assemble the (4)front brace to (2)front frame.

1)Fast samman (2) framre underredet med (3)skalmarna anvand (6)M8X40.
2)Montera (4)korgstodet pa (2)framre underredet.

4

3) assemble (5) wheel to the frame.
4)put the tray to the frame, use (7)M8X25 and (8)M8X20 to fix both the front and back of the tray separately.
use (8)M8X20 to fix the front brace and tray.

3) Montera (5) hjulet pa underredet.
4) Satt korgen pa underredet, anvand (7)M8X25 och (8)M8X20 for att fasta korgen baktill och framtill.
anvand (8)M8X20 for att fixera korgstod mot korg.

HORBY BRUK'

www.horbybruk.se



